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L. Write the complex number m *t Fioin standard form:
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4. The solutions of |2x +3)+3=7are:
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1074 is converted to decimal form it

a) 60230 b)6023 c) .006023 d).0006023 e).00006023

The solution to the equation
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In simplest form 7
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15, Ity varies jointly as x and the square of @ and inversely as
the cube of w, what is the resulting change in v when z is

Joubled and w is divided bry 5 Af » remains the same?

a) i increased by a factor of 4/07

) ie dncreased by a factor of 27/4

) s increased by a factor of 1/108

o) ig increased by a factor of 108

=% is increased by a factor of b
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8. A man riding a bicycle at 10 m%h teaves town A to ride to
town B wihich is 8% miles away. How long after the cyelist leaves
can a man driving a car at I8 mph leave town A to arrive in town
B before the cyolist?
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8. Five years AGO, & woman was 4 timnes as old as her son.  Sis
years from now, she will be 9 years more than twice her son‘s
age. Find the woman' s age and her son’'s age now.

A Woman is 2% and son is & B) woman is 40 and son ig 10
) Woman is %6 and son im W D) Woman 1= 45 and son is 15
=) Woman is 20 and son is 5

A A dealer mixed some coffee worth 80 cente a pound with
coffes worth 95 cents a pound to make a mixture to be sold for B5
cents a pound. It the number of pounds of 8¢ cent coffee was 10
mare than the number of paunds of the 95 cent caffes, how many
pounds of each kind did he use?

M) 10 pounds of 80 cent. and 20 pounds of 9% cent
H) 16 pounds of BO cent and 25 pounds of 95 cent
) 10 pounds of 9% cent and 20 pounds of 80 cent
) 25 pounds of B0 cent  and 15 pounds of 95 cant
£} 30 pounds of 80 cent. and 20 pounds ot 98 cent

e IF tan A = ~1 and sin & is negative, then the measure of &
ise
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SB. The graph of the equation 4x< - EyE b 8y lay = 33 is:

A a line E)  a parabola L) & hyperbola D) a cirgle

E) an ellipse

9. The graphs of the equations w< + yﬁ = and we Gy = 14
intersect in:

A) No points Bl exactly ome point C)y exactly two points
D) exactly three points E)  exactly fouwr points

40+ A ball is dropped from a height aof 72 inches. The ball
rebounds 1/2 of the distance it falle on each bounce. How far
hazm the ball travelled vertically when it ceases bouncing?

=) 144 inches H) 288 inches [y 2lés inches
N 72 inches £ 6 inches
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